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E 1. (i) Rewrite the following calculation with each number correct to 1 signiflqant figure:
L : 31.82x2.49
224-4.99
‘} E
|
ANSWEI: cesseessinsssesranezonnes | tenpnonstniinssrinstitts , (2}
serecssazagnarssansranke  wrsrsoes PP R IR XL AR A é
(i) Calculate the value of your answer in part (i). ;
O,
ANSWET: evvreeremssersressensrinsensensisrasasess — (1)
(iif) Writing down all the figures shown on your calculator; find the exact value of the
" calculation in part (i). _
E ANSWET: cvvermeesremsrssssnrsscssssiorsemmssnsssosssnsssnss (2) |
| (iv) Write your answer to part (iii) correct to 0'71
(a) 2 decimal places S , - | ‘
:‘
BRSNICTS onmani s sl sy daes Sem s vams v (1) ‘
(b) 2 significant figures
,
, ANSWET. riieeieeiiniraeieeesrariseersssmnnssesseransensss (1)
\\ - SA 2338128 - 2
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2. Look at this sequence of Fibonacci numbers:

1 2 3 5

(i) Write down the three missing terms.

e e 89

ANSWET! .oerecvrunannns P PN il - {2)

(i) From this list of 10 numbers, and using them only once, write down two numbers

which are

(a) multiples of 3

(b) cube numbers

(c) two-digit prime numbers

(d) factors of 40

3. The two digits of 29 are 2 and 9

ANSWEL: ciccorrasrorenss B ——— (2)
Answer: ... o el .(2.)
ANSWer: ... g sesemjuspeised (2)
Answer: ................ Y eeeeereesrenreas (2)

Write down a multiple of 12 whose two digits add up to 12

S.A. 2838128

CANSWET! cvcninieeccsissenrecsenierans 2
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4.

(a) Simplify
() 28 + 48

(iiy 2b— 4% + 3b

(i} 3a x 42°P°

W) 207 +4r°
2n

{b) Muttiply out the bracket and simplify
105 + 10 — 3(2b+ 5)

(c} Factorise completely
24bc — 364

S.A.2338128 4

_Anéwer: TR ..... {n
ANSWEL servereeesmerirsonsans s (1)
0
Answer: ........ | (2)
ANSWET: eeeieririersesnenssnssnacasiesenss (2)
| | vy
ANSWEIL oeireeeeeeesesieae (2}

ANSWET: <o {2)

i




5. Calculate the size of each of the angles marked a, b, ¢, dand e.

not to scale

ANSWER: 8 = ovovvseremsessseesesssenresssssasassanssses (1)
ADNSWET: P = cusevspcscprvanavani e R AGATREER (2)
ANSWEr: €= Lccverinnes TR I S RgneR S ——— (2)
not to
scale
~
O P
; . . [¢]
ANSWET: d = it 1

ANSWET 8 = .iivvivenreiiarerrienens et T i (2)

Y

S.A. 2838128 5 Turn over




() If 3y=

6.

3

0

(2)

3 — x complete the table of values below.

(1)

3—X

oy

(i) On the grid below, draw and label the line 3y

4

Yo

O L L
i ;

o B e E
At kg
Lt n fguddin

Pomd ey o opoe

e g A bt
|

T o T oS e

e TR SR
e TR B

ot

o

[T,

e

Sl

e

B g

- S.A. 2838128




e i

ey i

s a

Giy it y=3xF—1

complete the table of values below.

X -3 -3 - 0 1 2 3
y ] 1
: @
(iv) On the grid opposite, draw and label the curve  y = 2x% — 1 @
(v) Write down the x co-ordinate of each point of intersection of the line and the curve.
ADBWEED s ssmas smasanasss =15 0 S e (2)
S.A. 2838128 7
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7. (a) 1inch = 2.54 cenlimetres. | - E/ _
(i) A piece of string is 64 inches long. : , | r /

Write this length in centimetres. _
Give your answer correct to 1 decimal place.

~ Answer: ............ e BT (2)
| | :
{iiy Adooris 1.90 metres high. - ‘ 1 notio -
Write this height in inches correct to the | D D 190 sczie
nearest inch. , ' " D | I oL
AnSwer; ........ erneeeneenenia i0ChES {2}
(b) To convert a temperature measured in degrees Fahrenheit (c'F) o one measured
in degrees Celsius (°C), the following formula is used: -
f B
C=g(F~32)
(i) The temperature in Russia is -4 °F.
" Calculate this temperature in degrees Celsius. ‘ & _
| 71 @
ANSWET.  oiiiieeiireticecemcananes

(i) Theo has a temperature of 40 °C.
Calculate his temperature in degrees Fahrenheit.

. S.A.2838128 B ' 8
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g. Chartie’s Cake Company makes a cylihdrical cake of base area 707 cm?,
(i) Calculate the radius of the base of the cylindrical cake.

not to
size

The cake is 11 cm deep. ' | | | *

(i) Calculate the volume _of the cake. - _ | 11 cm S.Cale. '

, 3
AISWETT  mvrnssrsnenmmesssssnsssssvasssssssbvamsss e cm” (1)

The cake is packed in a rectangular box, measuring
O 32 cm by 32 cm by 12 cm.

(iiiy What percentage of thervolu'me'of the box is occupiéd by the cake?

not to
scale
),
3 12 cm
} '3
¥, cm
32 cm »
ANSWER!  srerevimsrermseiesmenenmansssessesenstisassses % (3)
Turn over

S.A. 2838128 o g
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9. Bob sells second-hand bikes. 5G5S

The age and value of each of seven bikes are BIKES
shown in the table below. o ,

age of bike, | | 6 7
in years 2 3 1 4 4 L .

;‘a%ze of bike, 100 75 55 70 t 105 30 20

~ Bob plots the first three results on a scatter graph}

A
150

100-
value,
ing

50

age, in years

(i) Plot the remaining four results on the scatter graph. -
-(ii) Draw a tine of best fit on. the graph.

(iii) Which sort of correlation is shown on this graph?

ANSWEr: uee.n. eemeseno et aenren- .M

A student brings Bob a bike which is & years old.

(iv) Use your fine to estimate its value, showing clearly where you take your reading.

ANBWELL £ crvunvsommussencssssdinm shnms sonnsnss o snvan ivos (2)

S.A. 2838128 | 10



from Dover to show where Sammy could be.

that Sammy is 55 km from Calais.




11. (i) (@) Calculate the size of an cxterior anglo of a

regular octagon. not to

scale

. o
ANSWET? 1 iinssrsreasernesssibissisussspsasenssssserassed S -4

{b) Calculate the size of an interior angle of a regular octagon.
-

o

AN uwsosomumsrmdims o - (1)

SA. 2838128
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,..—a«"“"'"_————

Calculate the size of

(a) angle BOC

(b) angle OBC

(cy angle OAD

~ S.A. 2838128

(i} ABCO forms three of the sides of a regular octagon, centre O,
Only part of the octagon is drawn below.

not to scale

Q<
ANSWEL: BOC = eoeeeeeeeeeeisussenessesssmesesenns {(2)
ANSWET: OBC = ...veoosvesersesssesssssneseenes (2)

&
ANSWEr: OAD = .oviicriceienrrinneesneenonns v (2)
13 Turn over
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13. Felix puts his ladder up agamst his house.

He places its base 1 metre out from the wall and, w
just reaches the window ledge, 3 metres above the ground.

(i) Use Pythagcras’Thecrem to calculate the normal length ' / .
' o notto-

of Felix’s ladder. _
] scale .
}A .
; Tm
Y
7 -1 m—
m {2)

ANswer: ........ evieieraeeeesnenieatannesaesiassnresiass

'Fehx scatis stuck on the roof. ,
Felix extends his ladder to tw;ce its normal length and places its base 1. 5 m from the

wall. : R R, .
The top of the ladder just reaches his cat. ey wEER =Ly o
. 7 notto
(i) At what height is the cat above the wmdow ledge'? . scale
ANSWEL oreanisrmsimsss s csnrs b, m

2838128

(Total marks: 100)
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henitis its normal length, the Iadde;

| o



